
Que-1 (A) (i)  fx = 1 . f(x) +   f ( 1 ) = 1 (2)
l + x x

(ii) lim           1 -    2 (2)
            x->2        x-2        x2-2x

(B) lim [    n2 + n + 1 - n ] (4)

n-a

Que-2 (A) f(x) =  x
dy

dx

(B) y  = log  (sec x + tanx) dy (3)
dx

OR

Qua-2 (A) Y = Cos-1    1 - x2 dy
(3)

dx

(B)  x3 + y3 = 3axy  dy
 dx

Que-3 (A)  x =  a   (O + 1 ) Y = b  (O - 1 ) (3)
  2  O 2      O

dy . (O #  0, O # +1)
dx

(B)   y = tan-1 x dy

          a  dx

OR

(B)  Y = log (sinx) d2y +( dy)
2

+ 1 = 0 (3)
dx2  dx
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Que-1 (A) (i) If fx = 1 then proove that f(x) +   f ( 1 ) = 1 (2)
l + x  x

(ii) Find  lim           1 -    2            (2)
                     x->2         x-2       x2-2x

(B) Find    lim [    n2 + n + 1 - n ] (4)

          n-oc

Que-2 (A) If   f(x) =  x  than find
dy

by the definition.
dx

(B) If  y  = log  (sec x + tanx)  than find dy (3)
                  dx

OR

Qua-2 (A) If   Y = Cos-1    1 - x2  then find
dy

           (3)
       dx

(B) If   x3 + y3 = 3axy then  dy
       dx

Que-3 (A) If   x =  a   (O + 1 ) Y = b  (O -   1 )           (3)
   2 O   2        O

Find   dy    (Where, O #  0, O # +1)
          dx

(B) If  y = tan-1 x   then find  dy

        a                dx

OR

(B) If  Y = log (sinx) then prove that d2y +( dy)
2

+ 1 = 0 (3)
dx2  dx
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